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Answer the following questions:

	1- Given the sample space 
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 is the life time in years of a certain electric component , then the event  
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	2- 2- If the probability that it will rain tomorrow is 
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	3- 3- If
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	4-  Assume that  we have a box containing  20 fuses of which 5 fuses are defective. If 2 fuses are selected at random one after another , the probability that both fuses are defective is  
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	5-  A fair coin is tossed twice. The probability that at least one tail occurs is
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For questions 6 and 7:

Consider the following information of 500 people  given in below: 

	
	Employed 
	Unemployed
	Total

	Male
	220
	80
	300

	Female
	180
	20
	200

	Total
	400
	120
	500


A person is randomly selected from the group of 500 people.

If  M denotes the events that a man is selected   and E  is the one selected is employed
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     6-  The probability     
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     7-  The probability     
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	8-  The two events A and B are independent if and only if 
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For questions 9 and 10 consider that: 

- A coin is biased so that a tail is twice as likely to occur as a head. Suppose that the coin is tossed 3 times.

	 9-  The probability of getting 2 heads and one tail  is 
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	10- The probability of getting 3 heads is 
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For questions 11 and 12 consider the following data:

Three machines, 
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respectively of the product.  If is known that 
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 of the products made by each machine, respectively are defective. Suppose that a product is selected at random 
	11-  The probability that  the product  is defective is
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	12- If the product is defective, the probability that it was made by machine 
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For questions 13 and 14 consider that:
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For questions 15 and 16:

Let A and B be two events such that 
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	17
	The number of automobile accidents per year is a…………Random variable         

	
	(A)
	Discrete 
	(B)
	Continuous
	(C)
	Discrete and continuous
	(D)
	None of these

	18
	The life time of a machine produced is a ………..random variable

	
	(A)
	Discrete 
	(B)
	Continuous
	(C)
	Discrete and continuous
	(D)
	None of these


	19
	. Determine the value of k so that the function  
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 for x=0,1,2 can serve as a probability distribution of the discrete random variable X.

	
	(A)
	1/10
	(B)
	1
	(C)
	1/5
	(D)
	2/5
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	Suppose that the error in the reaction temperature, in 
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Determine the value of C, so that the function serve as a probability distribution.

	
	(A)
	1
	(B)
	2/3
	(C)
	1/3
	(D)
	2/3


For the questions 21 to 25: 

Let X be a random variable with the following probability distribution
	x    
	-1
	0
	1

	f(x)
	3/30
	10/30
	17/30
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	(A)
	4/7           
	(B)
	1/7       
	(C)
	2/7

	(D)
	7/15
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	(A)
	2/3    
	(B)
	3/7        
	(C)
	5/7

	(D)
	1
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	Var (X) = 
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	(A)
	4/7 
	(B)
	1/7        
	(C)
	26/225

	(D)
	101/225
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	(A)
	2/7     
	(B)
	3/7
	(C)
	5/7

	(D)
	29/15


	25
	Variance of (2X+1)= 
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	(A)
	2/7         
	(B)
	3/7
	(C)
	5/7

	(D)
	404/225


For the questions 26 and 27 consider the following commutative distribution  function:
Let X be a discrete random variable with the following cumulative distribution function:
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	26
	What is P(X=3)?

	
	(A)
	4/7 
	(B)
	1/7
	(C)
	0.0
	(D)
	0.25


	27
	What is P(4
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	(A)
	0.6
	(B)
	3/7
	(C)
	0.4

	(D)
	0.55


	28
	A random variable X has a mean μ=12, a variance σ2=9, and unknown probability distribution. Using chebyshev’s theory, the lower bound value of 
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	(A)
	2/7 
	(B)
	3/7     
	(C)
	7/9

	(D)
	8/9


For the questions 29 and 30 consider the following density function :
Suppose the failure time (in hours) of a specific type of electrical device is distributed with a probability density function :    
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	29
	The average failure time of such device is: 

	
	(A)
	4.667 
	(B)
	6.367
	(C)
	6.467

	(D)
	6.6667


	30
	The variance of the failure time of such device is:

	
	(A)
	2/7 
	(B)
	3/7
	(C)
	5.55

	(D)
	1
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